
 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 



 

 

 

 

QUESTION NO: 229 Refer to the grapic. An administrator has configured RIPv2 on the two 

routers, following which heimplements the command silent-interface s0/0/1 on RTA. What effect 

will this command have onthe network? (Two Answers) 



A.RTA will continue to learn routes from RTB 

B.RTB will continue to learn routes from RTA 

C.RTA will have no neighbor relationship with RTB 

D.RTB will have no adjacency relationship with RTA 

Answer: A,D 

 

Refer to the graphic. R1, R2 and R3 are running RIPv1. R1 and R3 both advertise 172.16.0.0 

tothe RIP network. How will this affect R2 

A.R2 will not have a route to the networks 172.16.1.0/24 and 172.16.2.0/24 

B.R2 will only have a route to 172.16.1.0/24 

C.R2 will only have a route to 172.16.2.0/24 

D.R2 will have a route to both networks 172.16.1.0/24 and 172.16.2.0/24, but some packets 

forthesedestinations will be lost. 

Answer: DExplanation: 

 

QUESTION NO: 228After a command for displaying RIP route information is entered on a 

router, peer 192.168.1.2 onSerial1/0/0 is displayed in the returned result. What does 

192.168.1.2 stand for? 

A.Address of a RIP neighbor 

B.Address of the port with the RIP protocol enabled 

C.Next hop address of the RIP route 

D.Transmission address of the RIP protocol 

Answer: Aexplanation 

 

QUESTION NO: 227A user can view the information for the RIP protocol on a router. What 

does “Age time” in thereturned result of the command mean? 

A.The interval of updating an RIP packet 

B.The aging time of an RIP route 

C.The suppression time of an RIP route 

D.The time spent on switching between RIP routes 

Answer: B 

 



Which of the following commands is used to display the current running state and configuration 

ofRIP? 

A.display protocol rip 

B.show rip 

C.display rip 

D.display this rip 

Answer: C 

 

18. Which of the following statements about the usage scenarios of the DHCPprotocol is correct? 

A. After the DHCP request or response message continues to be received in theDHCP, the message 

format is directly forwarded without modifying the messageformat 

B. Multiple DHCP servers are not allowed in the network 

C. The DCHP client and DHCP server must be connected to the same switch 

D. If the DHCP client and the DHCP server are not in the same network segment,the DHCP message 

needs to be forwarded through the DHCP relay 

Answer: D 


